1a. Tim rowed 94 miles while Sandy only
rowed 82 miles.
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3a. Caroline is comect becavse dx2=8
and 4 x 20 = 80. 8 and 80 is 88.

4a. Tony cycled 224 miles while Steve only
rowed 180 miles.
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&a. Cheryl is incomrect becauvse she has
not remembered to add in her exchange.
36 x4=144 not 124.

7a. 36 x7 =252 43 x & = 256. The
difference is 4.
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2a. Kim is incorrect because she has not
added the exchange.

1b. Katie ran 48 miles while Chris only ran
39 miles.
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3b. Clint is incomrect because he has
calculated 3 x 3 instead of 3 x 30. 33x 3=
29 not 18.

4b. Carol swam 252 lengths while Kelvin
only swam 21& lengths.
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&b. Charlie is comrect because 3 x 7 = 21
and 3 x 20 = 60. 21 + &0 = B1.

7b.27 x & =142: 28 x 5 = 140. The
difference is 22.
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?b. Kang is incorrect because he has
added the exchange incorrectly.



